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Abstract: There has existed the focus of debate between the ailetwpf space-time of

classical physics and that of relativity for almost a maeddyears. Which is more reasonable on
earth?

The fundamental principlef the theory of relativity and its basic transformation wél b
discussed in detail in this study. By discussion, | hopeavesee the essence of the theory of
relativity clearly and make people profoundly understaedftindamental conception of physics

on time and space. | wish we can return a sunnycsgpysics.
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1. Probing into the Theory of Relativity from the Deducing Process

of Lorentz Transformation

The Lorentz transformation describes the relationship pbint's time-space coordinates

(x,y,z1) and(x,y,Z,t), or the relationship between the time-space coordinates ®f on

physical incident.

1.1 The Derivation of Lorentz Transformation

As shown in Fig.1.1, There are two inertial frames of eafee K' and K. The frame K’

is moving in the positive direction along the axis»fin the frame K with a velocity ofu



relative to the frameK . When the two

coordinate origins O and O are at the yrK oy 1K
(x,yz1)
state of superposition, we suppose that f .
(x',y',z’,t')
time in the two frames is zero, te=t =0. v,

Whenever observing the origi©® of

system K in the syster{ , we get x=0. But / 0 o' x x'
z z'

while observing in the systenK' at the

timet', we get the coordinate ofO is
¥ =—utorX +ut =0. It is obvious that the Fig 1.1 The sketch map of Lorentz Transformation
numerical values ofx and x +ut’ are both
zero relative to the same poirf@ in the space. However, when considering the genera ohs
the relationship between them, we can suppose that thenship betweenx and x +ut' is
linear, that is
x=Kk(X+ut) (1.1)
Where k is a constant relative to.
Likewise, relative to the origirD'in the systerk’, we get

X =K (x-vt) (1.2)

But according to the principle of relativity of the Special Tleof Relativity, these two
inertial systems are equivalent, which is the Eq.1.2Bgd .1 should have the same form except

substituting v for—-v. This require&’ = k.
X = k(x-0t) (1.3)
Now we discuss the transforming relation betweeand t'. Substitutingx in Eq. 1.1
with k(x-ot) in Eq.1.3, we get
x=k*(x-u)+ kvt

Then we can get the results as follows:



t':kt+(1'k2]x (1.4)
kv
These are some coordinates transforming formulasutih the principle of relativity, and
the calculation ofk in these formulas relies on the second assumptigminciple of constancy
of light velocity. Therefore, when origin®and O'are in the state of superpositioti £t =0),
there is light signal emitted from the superposit@mong the axis ax. We can get the light
signal’s coordinates at the poinP relative to two coordinates systems as below.
X=ct (1.5)
X =ct (1.6)
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Substituting X' and t' into Eq.1.6 withk(x-ut) and kt+(1k
v

jx respectively, we

get
K(x-0t) = cktr[ 2K o (1.7)
ku
Resolving x according the Eg.1.7, and then comparing the tesith the Eqg.1.5, we can
get™ 2
k=t (1.8)

J1-v?/c?

( Albert Einstein Relativity: The Special and the General Theory, &fix |, Simple
Derivation of the Lorentz Transformatid®20,http://www.Bartleby.com/173/al.html

1.2 Is This Our Way to Change the Time-Space View?

Maybe it is Mr. Einstein’s neglect!

If one of the supporters of the theory of relagivg more brilliant than Mr. Einstein, please
explain the following question definitely. The gties is why the timet and t' of the same
point P in different inertial system&K and K' is different.

What is time?

What are the physical meanings bfand t' respectively?
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Since the theory of relativity considers the tirheand t' of the same pointP in different
inertial systemsK and K' to be different, well then how does the varialblecontact with the
variable t' ? Why do they contact with each other in such aavayd how about its importance?

The Lorentz transformation describes the relatignsii a point’s time-space coordinates
(x,y,z1) and(x,y,Z,t), or the relationship between the time-space coatds of one
physical incident.

Please examine the whole deducing process carefully

The reason for introducing the principle of constanf light velocity into the derivation,
and the reason for the deduced result of Loreatrstormation, is just on Eq.1.5 and Eq.1.6, that
is x=ct and X =ct'.

In the reference frant¢, the time t in the time-space coordinate(s<, Y, Z, t) of the point
P whether is equal to that in the equationct ?

While in the reference frani€, the time t' in the time-space coordinatds, y, Z, t) of

the point P whether is equal to that in the equatibna ct' ?

1.3 Oppugnation

The first one
Is the timet in the time-space coordinate(s<, Y, Z, t) of the point P in the systemK

equivalent to that taken by light traveling frone tbrigin O to this point? No. But Mr. Einstein
made them the equivalence by contraries.
When the pointP is motionless relative to the syst&m the time taken by light traveling

from the origin to this point is a certain valueutBhe timet in the time-space coordinates

(x, Y, Z, t) of the point P in the systenK has infinite values that changing continually.

Isn’t it muddleheaded to replace infinite valuetiwa unique one? It just takes a part for the

whole.



The second one

In classical physics, the time of the poiRt is objective. No matter which reference system
the point belongs to, the time standard is the sdu the theory of relativity changes the
objectivity of time importunately. Well then whorcaxplain the reason on altering the objectivity
of time of a point P ? What is the great reason that changes the obfgaif time?

—— Does it just rely on the so-called reason thaetirmluest and t' taken respectively
by light from the originsO and O' to a point P are different?

Putting the validity of principle of constant speafdight aside at first. If two people go to
school simultaneously from the same home, but #ngye at the school at different time, can we
say that the school has two different time systei$® same question is in the case of one
hundred people and one hundred time systems.

What kind of logic is it?
The third one

Since the light just acts as a signal, how aboutake the sound or a bird as the signal?
Won't we create many theories like the theory détreity, such as the sound speed’s

relativity, bird’s speed’s relativity and the srailelativity? ...

1. 4 A Discussion on some simple facts

Here | will discuss some simple facts

which can help you understand the disguise

replacement of the time concept, whe v
Einstein derived the Lorentz transformation.
- . (x, 1)
As shown in Fig 1.2. Supposing that th P- .
0 o (X)) xx

system K is a reference system on the

earth’s surface, with its origirO in Peking

City. Furthermore, supposing that Daqing Fig 1.2 Some simple incidents



City locates at the pointP of x-axis, with a distance ofl500km to Peking, that is,
x =1500km.

Following is the example of setting off firecrackeDaging City. We set off a firecracker at
t =1s, that is, whent =1s, there is a physical incident happenedkat1500km. Then we set off
another firecracker at =10s, well then there is also a physical incidentxat 1500km, when
t =10s. Similarly, these physical incidents of settirifyfisecrackers can happen respectively at
the time of 100s, 100Cs, 1000Cs, ...... 1h, 100h, 1000Ch, etc.

How long does it take for a beam of light to trafreim Peking (the originO of systenK)
to Daging”By x=ct, we can get

t =2 =0.005¢
C

Is the time t at which the incident happens equivalent to thevabmentioned propagation
time t?

Absolutely not. But when Einstein derived the Ldrertransformation, he actually
substituted them for each other. What a more wokittl is that human time-space view was

distorted ungodly!

1.5 Consulting to the Masters of Theory of Relatity

Dear masters, you must know the theory of relativiell, now let me consult some
questions to you!

(1) The Lorentz transformation describes the retainip of a point’s time-space coordinates
(x,y,z1) and(X,y,Z,t), or the relationship between the time-space coatds of one
physical incident.

(2) When Einstein derived the Lorentz transfornmatibe derived the relationship of one
physical incident's time-space coordindtesy,z 1), (X,Y,Z,t) wherever or whenever this

incident happed.

(3) Dear sirs, maybe | am too foolish to understdnasde procedures, could you please help



me deduce one incident? You just help me derivermident!
As shown in Fig.1.3, there are two inertial

reference system«K'andK . The reference

system K' is traveling in the positive v

direction along x-axis in the reference syster
p(x1)

0 o' (x1') xx

’

two coordinate originsOand O' are in the

K, with a speedv relative to K. When the /

state of superposition, supposing the time
the two reference frames is zero, that is Fig 1.3 An simple incident
t'=t=0.

In order to simplify this matter, let's deduce aneident which occurs in thex-axis and
X' -axis!

An incident happens in the systei where x =1000m and whent =10h. (a bomb
explosion for example).

Dear Sirs, now help me deduce the Lorentz transibom between one incident’s
time-space coordinates! (Attention please, notiegfbn but derivation)

You can believe that the principle of constanciigift velocity is right!

You can think that the theory of relativity is righ

When the two originsOand O' are in the state of superposition, the light sigaa come
out, however strong it is!

Do please! Now let's see together that, in broadiglat, how we can explain the concept of

time using the principal of constancy of light vetg!

[Illustrations]

Dare the supporters of theory of relativity anstese simple questions?
Of course not, they dare not face them and camswer them.
Whichever derivation of Lorentz transformations|vatiopt the principle of constancy of

light velocity, and “the time that the light wheniginsO, O' are in the state of superposition



travels to that point” substitutes “the time whba tncident takes place™

When Einstein deduced the theory, he put all thatpand incidents together and made
confusion, well then let us open our eyes to seethey deduce it one by one!

In the simple example described in Fig.1.3, thedmat took place whert =10h, while
according to the principal of constancy of lightogity, the time that light travels from the origin

to this point,

t===3.34x10° ¢

o | x

Let's open our eyes, who dare say thathours equals ta3.34x 10°seconds?

[Further lllustrations]

Let's further analyze the incident discussed befdtee Process of Classical Physics is as
follows.

Firstly let's see how the classical physics processes it

(1) The classical physics believes that time isadbgctive being in the universe, or time is
the reflection of the total existence and changethé whole universe. It is the same whichever
reference system it is in. Obviously,

t'=t (1.9)

(2) The classical physics believes the distancevdsat two points is objective, and is a
space length. It is all the same in any referegstem.

(3) The classical physics believes velocity eqdatance divided by time. When both of the
space distance and time are same respectivelyrelagve velocity between two reference
systems must be equal in value and opposite ictehre

According to the above,

X' =x-ut (1.10)

The Process of Theory of Relativity is as follows:

(1) The theory of relativity believes that the tinmetwo reference systems may not be
equal—if equal, there will not be time dilation!

(2) The theory of relativity believes that betwewo reference systems, the space length of
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the two points may not be equal. —#the space lengths of the two points are eghal) tength
contraction won't occur.

(3)Now that space length may be not equal as sdihae, the relative velocity between two
reference systems may not be equal, either.

——the relative velocities of the two frames of refexe are equal, which is the result of
classical physics. However, the theory of relagivdkes advantage of this result, which is too
absurd!

Now you see, based on the theory of relativitysieven impossible to draw the general

solution formula with some coefficients betweeneispace coordinatefx,t') and (x,t) for

the incident above!
Let alone change time concept slinkingly takingatage of the principal of constancy of
light velocity in the daylight!

Now who can deduce the fake Lorentz transformation?

2. Is Lorentz transformation Absurd?

[Time]

What is time? Time is just as an immensely longmriffowing from the antiquity to the
future.

Time is just like a rushing river ceaselessly oa thove. It's like the water of the Yellow
River, which flushes into the sea without everrreng.

But how can the Yellow River whose flow is alwagalbcompare with time?

Time is like the sun and stars in the sky, rismghie east and setting down in the west day
after day. Time is like the immense the Milky Waing round and round ceaselessly forever.

But the Milky Way cannot compare with the huge titteer.

Lei yuanxing said that, the gear wheel of time Jegghe whole universe and drives all

galaxies to rotate towards the everlasting futtffe.



And Newton has ever said that ‘The absolute, reahathematical time, itself and to the
extent of its nature, always lapses uniformly, hguiothing to do with any outside bod§}’

Time is the most essential objective being in theverse, or time is the reflection of the
total existence and changes in the whole univétsd.time is the most essential foundation stone
of the physics.

Time is our sole measurement tool for the procéssiversal existence and changes. Of
course, this kind of measurement is regulated tya system on the earth’s surface familiar to
us.™

Why has the clear concept of time been changed?&dssn lies in Lorentz transformation
in the theory of relativity. And it can be said tharentz transformation is the magic weapon of
the theory of relativity, which can bring you ir@ologically strange loop and let you experience
the relativity completely.

Well then, is there contradiction existing in Latztransformation itself?

We don't need to beat around the bush, let’s gk badhe basic springboard of Lorentz

transformation.

2.1 Time Standard in Physics

Before argument, the standard of time in dealinghwhysical problems should be
emphasized definitely.

The time system is uniform in the same frame anezice, namely, the time has
synchronism in any position. Then if we refer tceatain time in the same frame of reference,
whether are all the points same in the frame atithe or not? Of course, the answer is yes.

For example, a train leaves Beijing for Shanghdi2a®0 (at this moment, the time of any
position is 12 in the surface frame of referenaay] arrives at the destination at 18:00 (Likewise,
the time of any position is 18 at this moment ia sarface frame of reference). So, we conclude

that it takes six hours from Beijing to Shanghaitayn.
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---- If the time system is not uniform in the safreme of reference, how do we describe the
motion in physics?

Einstein also recognized this viewpoint in the tlyeaf relativity, and discussed how to
synchronize the time at each position in same eafss system.

The time of the every point in the same frame tdrence is completely same, which is the

time of the frame of reference.

2.2 The Most Basic Lorentz Transformation

The Lorentz Transformation is derivated by Einstbased on the two basic principles,
which are the principle of constancy of light vetg@and the principle of relativity.

As shown in Fig. 1.1. There are two inertial franodgeference K’ and K. The frame
K’ is moving in the positive direction along the agfs x in the frame K with a velocity of
v relative to the frameK . When the two coordinate origin® and O' are at the state of
superposition, we suppose that the time in theftames is zero, i.¢.=t =0.

The Lorentz transformation describes the relatigngii a point’s time-space coordinates

(x,y,z1) and(x,y,Z,t), or the relationship between the time-space coatds of one

physical incident.

Lorentz positive transformation Lorentz regative transformation
X—ut X +ut
===y (x-ut (1) X == =py(X +ut’ (5)
1-v?%/c? ( ) J1-0v?/c? ( )
y =y (2) y=y (6)
Z=7z (3) z=12 (7)
v v
t——= X '+ X
t=—C - (t—% xj (4) t=——C - y(“%X’j (8)
1-0?/c? c 1-v?/c? c
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2.3 The Time Trap

After the investigation of Lorentz transformatidet's look at Fig.1.1 again. In the theory of
relativity, it is said that when the two coordinatéginsO, O' are in the state of superposition,
we suppose that the time in the two reference fsameero, i.e.t' =t =0.

That is to say that the time of every point in tk® frames of reference is zero at the
moment, i.e. the time of the points in frank¢ is t=0,and t'=0 in K'.

However, whem =0, according to the equation of Lorentz transfororati
' v
= y(t—%xj =y < x
Cc Cc

X = py(x—ut) = x
we get the time of every point in framk'’

I U I
t = _C_ZX (21)
It is obvious that the time of every point in tharheK' is completely different, which is
inconsistent with the assumption at the beginnintp® argument.

At the same time, wheh=0, according to the equation of Lorentz transfororati

t= y(t’+%x’j = y%x
c c
x=px +ut') = K
we get the time of every point in frami
t= C—sz 2.2)

It is obvious that the time of every point in framé is completely different, which is
inconsistent with the assumption at the beginninty® argument.

To sum it up, Lorentz transformation has droppéd @time trap at the beginning.
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2.4 Twins Paradox

In terms of the logical problem of theory of thdatwity, Twins Paradox has been
condemned by us for more than one century. To abacthicanery of the supporters of theory of
relativity, we put the problem forward more stritlen

As shown in Fig.2.1, the twinsA and
B are flying away the earth by airships | y 5
the opposite directions with the uniforr ‘U—@ @_'
velocity simultaneously. Some years late
they turn around simultaneously, flyin
towards the earth at the same velocity a
landing simultaneously (the accelerating Fig 2.1 The sketch map of Twins Paradox
process is neglected).

Who is younger of the twins?

According to New Physics, the motions & and B to the no-shape substance space are
equivalent. Therefore, the twins would be at theesage.

But what conclusions can we draw from the theoryetdtivity?

We can obtain the conclusions as follows:

(1) From the angle ofA alone, it looks as if thaB is younger becaus® is moving and
its clock is slower.

(2) From the angle ofB alone, it looks as if thatA is younger becausé\ is moving and
its clock is slower.

Therefore, whether is the theory of relativity ssbhtradictory or not?

When the twins stand together face to face, if ahgy had a normal thinking, they should
not side with the theory of relativity for that tfect might only have two results.

(1) Both of them are at the same age.

That is to say that neither of the observing raesattcording to the theory of relativity is
trustable.
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(2) One of them is younger than the other.

Then which is the younger one?

No matter in physics or mathematics, there arevabies which can result in thad is
bigger than B while B is bigger tharA.

Therefore, we can take it for granted that theeeaatinomies like the above one in all the

problems about the time transformation in the thedrelativity.

[lllustrations]

It is common for most supporters of the theoryadativity to use the general relativity to
prevaricate the problems of Twins Paradox. Becafiseceleration the influence of acceleration
on time and that of velocity on time happen to ¢etact each other, however far you fly.

What is more, a number of incompatible formulas @reforwards by many supporters of
the theory of relativity to prove Twins Paradoxicity. However, a great of experiments
demonstrate that the acceleration has nothing teithotime dilation.

There are many experiments including an accelegapirocess in experiments validating the

time dilation. And the range of the acceleratiorvésy wide. For example, in the experiment of
atomic clock sailing around the world, the accet@a centripetal on the clock i40° g, where

g is the acceleration of gravity on the earth’s fage; in the running-disk experiment, the
acceleration centripetal of the light source extend 10°g; in the experiment investing on the

temperature dependence of Mossbauer effect, thrativig acceleration of the nucleus in the

crystal lattice and the acceleration centripetaltbé meson moving in circle are both larger than

10*°g. Although the range of the acceleration is soeywaimost all the experiments get the result

consistent with time dilation caused by the speddch is predicted by special relativity. This
fact indicates that, the acceleration has no cdmition to time dilation in the experiment. Even if
we admit the existence of the effect of time difatit can only say that the effect is caused by th

speed instead of the acceleratit§n”
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The problem of Twins Paradox is the logical contaan that the theory of relativity cannot

avoid.

3. Is the Principle of Constancy of Light VelocityAbsurd?

3.1 The Comparison between Newton's absolute viewpd of space-time

and that of Relativity

The theory of relativity has been with us almosteatury. The viewpoint of time-space in
the classical physics and that in the theory cdtngty has also been argued for one hundred
years. Then, which one is more reasonable? Latvggon it in the following.

First of all, time and space is explained defiyiiel Newton’s classical physics.

That is, the absolute, real or mathematical tinse|lfi and to the extent of its nature, always
lapses uniformly, having nothing to do with any sidé body. The absolute space will never
change or move. It’s the nature of the space.dhi;ndependent entity and has nothing to do with
other things.

Both time and space are objective, which are thedation of physics.

Having admitted the precondition that is the ohyetst of time and space, the velocity

v=I/tis referred by Newton. So, it can be said that ¢iglds a derivative variable of time and

space. That not only consists with the logic bebaloes with cognitive habit of human being.

Secondly, let’s look at the thought of Einstein.

The theory of relativity is established by Einsteased on the two basic principles, which
are the principle of constancy of light velocitydathe principle of relativity.

Then, what is the principle of constancy of ligktocity?

Here citing Einstein’s original words: a light beamil always move at a constant speed
cin a resting coordinates system, regardless oftheatight beam is emitted by a resting object

or a moving one.
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—here the state of rest is relative to the obsefvdr.

“A light beam will always move at a constant speeth a resting coordinates system.”
which is the key part of the principle of constaméyight velocity.

The principle of constancy of light velocity can thescribed in image-bearing words. That
is, the speed of a light beam is unifarprelating to thousands of observers who are rgnimn
all directions with arbitrary speed even 6.9

While you are running at the velocity of 0®%oward the direction of a light beam, the
velocity of the light beam relative to youcis When you are running at the velocity of 0c99
toward the opposite direction of a light beam, Wedocity of the light beam relative to you is
alsoc.

To sum it up, the velocity of a light beam to angrtial system is uniform. That is the
principle of constancy of light velocity. In theetbry of relativity, velocity is absolute, while tem

and space are variable.

3.2 Logical Problems of Principle of Constancy of ight Velocity

The principle of constancy of light velocity is éxmed clearly as stated above. What's
more, are there any logical problems in this ppre?

A light beam travels in the cosmic space as shawfig.3.1, which exists actually and
objectively, but how about the frame of referenlts?just a mathematical model established to
resolve problems, not existing practically.

Why does there exist an inevitable relationshi

2 @
between light and the frame of reference? 9 1K 1K'
C
v
A beam of light travels in the cosmic space, whgh T —
@D
- . . . . @
actual and objective. The relationship betweemd the " 0 07 xx
abstract space frame of reference only havin
mathematical meaning is established by Einsteigty) Fig 3.1 Is the light dependent

. on the frame of reference?
regardless of how large the velocity of the fraroethe
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cosmic space. Does it separate the physics fromreice? And does it go against the logic?

How does the velocity of the light beam to infinibertial frames of referenc& , K' ...
happen to bec?

A parable named ‘Making his Mark’ told by Han Fefaifamous philosopher in the ancient
history of China):

A man was crossing a river by boat. His sword ifeib the water due to his carelessness.
Immediately he made a mark on the boat where hisds¥ell off. Others asked him: “Why do
you make a mark on the boat?” “This is where myrs\ell off,” he said, “When the boat stops,

I will jump into the water to look for my sword tite place where | have marked the boat.”...

Though there is no necessary relationship betweedat and the sword because the boat
has moved and the sword has not, the mark makee maelationship between them rigidly. Isn’t
it very foolish?

In summary, the light beam and the cosmic spacguatdike that sword and the water, but
the frame of reference system is just like the bblaé light travels in the cosmic space. Therefore,
there is no essential relationship between thet lggid the frame. Despite of that, the light is
imposed on the frame of reference by Einstein. Doedave any differences from the mark

maker logically?

3.3 Logical Problems on the Viewpoint of Time and [@ace in Theory of

Relativity

Firstly, time and space existing objectively is st@ndard through which the world is known
by human being as well as the most important foatstof physics. For instance, if time and
space are compared to father and mother, velo@tyldwvbe a little son of them. Then, how does
velocity come into being without time and speed?

In addition, the velocity is made absolutely by $@in without regard to time and space in
the theory of relativity. Doesn't it put the cadfbre the horse?

It can be said when Lorentz transformation is deduat first, the relative velocity between
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two frames of reference systems has been brougfit i& unconscious for him to employ the
valid cognition on the objectivity of time and spac

Then, are there any reasons to support this opgtnion

While deducing Lorentz transformation, two framésederence K and K'are employed in

theory of relativity as shown in Fig.3.2. The ralat

velocity of frame K' to frame K is v. ) ‘
From the classical physics, the right ideaiwietand v
space can be formed in our heart, so it is easyu$oto
understand what the velocity is. However, if théeno 0 o' x x!

right idea of time and space, that is to say tlot bime and
space are uncertain, then how does velocity cotoebiging? F19:3:2 How come fhe speed?
When the relative velocity of the two frames ofereihce isv =100m/s, which is given by
Einstein, how does the speed come out? What dedsrthmean? What does the “s” mean? And
what aboutv =100m/s?

It is said that if the time and space is determidgectively, the velocity would be
determined certainly.

The objectivity of time and space has been concdewteen the velocity is researched, but it
is considered that time and pace would change thighvelocity changing inversely, isn't it a
paradox?

We can draw a vivid analogy!

Kittens and puppies would snap at their own taisining around a loop. What kind of
mistake do they make? They forget that the posuifatheir tails is determined by the position of
themselves, When they keep running, can the failsition be determined?

To sum it up, the velocity is made absolutely bydiin regardless of space and time.

Logically, is there any difference between him #melkittens, puppies talked about above?
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3.4 A simple logic

Firstly, the brilliant discourse of Mr. Youngler d¢ime principle of constancy of light velocity.

(1) Any body can be a frame of reference.

(2) A photon can also be a frame of reference.

(3) The velocity of a body relative to the frameefierence of itself is zero.

(4) The velocity of a photon relative to the fraofeeference of itself will also be zero.

(5) So the judgment that the light velocity relatito any frame of reference is uniforms
false.

Definitely, how simple the logic is.

3.5 The Contradiction between the Principle of Cortancy of Light

Velocity and Experimental Facts

It is known for the people who understand the Inystd physics why the theory of relativity
can be established. It is because that the resfuMichelson-Morley experiment showed that
there was no so-called ether-wind at all on thdaser of earth, when it was conducted by
Michelson and Morley in an effort to measure tHeeetwind on the surface of earth, which result
in the fierce conflict with the derivations of ctsal physics.

The theory of relativity is established by Einstein the ground of Michelson-Morley
experiment discarding the concept of ether.

The important part of the principle of constancylight velocity is that a light beam will
always move at a constant velocity in a resting coordinates system. That is to saylight is
isotropic relative to an arbitrary coordinates sgst which can be used to explain the zero result
of Michelson-Morley experiment on the surface oftleaFurthermore, do all the results of
Michelson-Morley experiments conform to the priteimf constancy of light velocity? The

answer is no.
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3.5.1 Milar Experiment

From the year of 1902 to1904, Millar and Morley esped the Michelson-Morley
experiment with better instruments. The resulthefrtexperiment was closer to zero than what
was got by Michelson and Morley in 1887.

Later on, Millar obtained different result when clutted the experiment rather than the
space of the earth surface.

In 1921, Millar repeated this experiment on Mountséh by using the same methods as
before. As a result, a positive effect dkm/s was found, which means light speed deviated by
an amount of10km/s.

In order to validate this point, he took many measuincluding replacing ferromagnetic
materials, substituting cement for the steel fraswéhstituting copper and aluminum for steel,
separating the light source to avoid the changedeofiperature, adopting many different light
sources, even heating up an electric cooker tothesinfluence of temperature...

At last, Millar came to the exact conclusion thight is drifting at a speed o10km/s
relative to the eartt'%

From the above, it can be said that the princigleanstancy of light is denied by this

experiment straightly.

[Illustration]

In the year of 1955, San Francisco and other peapédyzed the positive effect in Millar
experiment, and considered that it was caused éyamperature gradient.-Thereby the Millar
experiment is buried completely.

The result of the experiment conducted by MillarWitson Mountain can’'t be understood
by people, it is thought that the results of theesiment are affected by temperature gradient
contrarily. | can’'t agree with it.

Let us look at some basic questions together.

(1) Can Millar conduct the Michelson-Morley expeent?
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In the year of 1902 to 1904, Millar and Morley rape the Michelson-Morley experiment
many times on the surface of earth. It can be ghmt Millar is very familiar with
Michelson-Morley experiment. The more accurateitisrument is; the closer to zero the result
of their experiment is.

What's more, is it reliable for the result of theidWelson-Morley experiment repeated
carefully by Millar on Wilson Mountain in 19217 ©@burse, be reliable. (Note that the altitude is
different.)

(2) Michelson-Morley experiment has been conducteshy times by human being and it
has been also repeated by Millar on the surfaceaoth. But why haven't the results of the
experiments been affected by the temperature gres#éVhy was the result of the experiment on
Wilson Mountain affected by temperature gradientuely?

(How coincident it is! No matter how the conditiohexperiment was changed by Millar, a
positive effect of 10km/s would always been brought in by the temperatuaelignt.)

(3) The reason for Millar changing the temperatsréo exclude the influence of different
factors after the appearance of the non-zero remudt the purpose for the changing on
temperature is just to exclude the influence ofgerature on the experiment. But some people
believed that the result of the experiment is affidcby the temperature gradient. Isn't it
ridiculous?

4) In the year of 1998, Maurice Allais found eviderof a systematic nature detailed in

Millers results in hiexperiments'*

3.5.2 Light Aberration Phenomenon

As shown in figure 3.3, when we observe
far-away star, we need change the direction of ¢
telescope when seasons change, that is, we chi

the telescope's angle when earth changes its posi

on its orbital course round the sun.

The maximum angler is about 10 radian in Fig 3.3 light aberration phenomenon
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the practical observation.
It can be said that the principle of constancyigttl
is denied by Light Aberration Phenomenon straightly Star 6—>
Note, as shown in figure 3.4, being on the Earth C
this inertial reference frame, we are observinglitiet
from the distant star which is only light sourcexla

moving. (The velocity of star relative to that dfet

Earth’s reference frame is an additional reversecisy Earth ! X
of the Earth relative to the space on the basisseff j
velocity relative to that of space). Fig 3.4 Observingstar in the Earth's

Need to note that the star is very distant from the reference frame
Earth and their orientations relative to the Eartipace
are invariable.

According to invariance principle of the speed wjt, the light's speed relative to any
inertial frame is constant and independent on lgghirce’s speed, so the direction of light from
star is always unchangeable and it is observedthigatirection of the star is also no change.
According to this situation, we have never obsemedLight Aberration Phenomenon!

Both the movement of observer and light source cddve been completely different.

However they are no distinction in the theory dhtigity. Light Aberration Phenomenon has

shown that invariance principle of the speed ditlig simply absurd!
3.5.3 The Sagnac Effect

In 1911, Sagnac invented a ring interferometerhasva in figure 3.5. A beam of light is
split into two beams by beam splitter, and the afmlight are made to follow a trajectory in
opposite directions. To act as a ring the trajgcioust enclose an area .On return to the point of
entry, the light is allowed to exit the apparatassuch a way that the interference fringes are
obtained on the viewing screen.

The amount of displacement of the interferencegésin the Sagnac effect is proportional
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to the product of the angular

velocity of the interferometer anc

Reflector

3

Reflector

-

the area enclosed by the trajectory.

The Segnac effect has bee Y } AT

employed in many practical ways
Light source P

For example, a fiber gyroscope h: D

been successfully utilized in th Y

W

ra
“
= Reflector

Spectroscope

field of aviation and space flight. |

was one of the highly develope
gyroscopes in the last 20 years.

From the above, it can be sai Fig. 3.5 Sagnac Effect

Viewing screen

that the principle of constancy of

light is denied by this experiment straightly.

4. Is the Principle of Relativity Rational?

What is the content of the principle of relativity?

Principle of Relativity-Physical laws have the saewpressing form in all the inertial
reference frames, that is, physical laws are edgiivan all the inertial reference frames.

The principle of relativity that is different frorthe Galileo’s principle of relativity in
mechanics is applicable not only to the mechaniaats, but also to all the physical laws,
especially electromagnetic laws (including optics).

It is known for us that all the elementary lawsetd@ctromagnetic are concluded from a great
number of experiments and proved by a great nuwifexperimental facts and applications.

The principle of relativity will be verified throlga very simple electromagnetic problem in

the following paragraphs.
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4.1 What is the Fact on Earth?

There are two inertial system& and K' in which the systemK' is moving along the
positive direction of thex-axis with the velocity ofv relative to K, as shown in Fig.4.1.
There is a resting system that

consists of a thin rigid rod with a lengt

of R and two positive charge® at K }earth K

both ends of the rod in systemd. And o) v

it can rotate without friction around th P

central point P of the thin rod. Th %

conditions of the system observed fro 0 o’ xx'

both inertial systemsK and K' can
. . . Fig.4.1 The Systems of double Electric charge
be judged respectively according to the

principle of relativity.

4.1.1 Observation in the Systemk

K} earth K f |
v i
0 0 x x' 0! 0 X, X
|
Fig.4.2 Observation in the System K Fig.4.3 Observation in the System K’

It can be observed in the systekh that both of the charges are at rest, neithehahtcan
generate a magnetic field and between them onlyd@duforce exists. Furthermore, they are the
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same charges so the Coulomb force between thezpadient, as shown in Fig.4.2. The Coulomb
force can be described as
2
Fe = Q—2
dne,R

The torque acted on the system is zero, so themmydbesn't rotate with a steady state.

4.1.2 Observation in the SystemK'’

It can be observed in the systeki that there is not only Lorentz force but also ©oub
force acting on the two charges that are moving@line negative direction ok’ -axis with a
velocity of v as shown in Fig.4.3.

According to the most basic electromagnetic thetbwy,magnetic induction generated by the

moving charge can be described as
5=t QUXG (4.1)
1 R
The Lorentz force acted on the moving charge imtagnetic field can be described as

F,=QUxB (4.2)

m

According to the two basic laws above, it is eamyus to conclude that the direction of the
magnetic induction generated by the upper moviraggehat the position of the nether one which
suffers an upward Lorentz force is outward verlycahd the direction of the magnetic induction
generated by the nether moving charge at the posifi the upper one which suffers a downward
Lorentz force is inward vertically.

When observing in the systdf, the torque acted on the system is not zero amyelo So
the system will rotate clockwise at the same tirdi@ving been swinging to-and-fro, the system

will stop at last at the direction of thin rod thafparallel to the x-axis.

4.1.3 Doubts

The two judgments based on the above are got coehplaccording to the principle of

relativity as well as to the theory that physicav$ have the same expressing form in all the

25



inertial frames of reference. Therefore, it is @ that the results observed from the two inertial
systems are paradoxical.

Firstly, the states of the two charges above-meatare certain. Whether they can generate
magnetic filed or not is an objective fact, so tésult is determined uniquely. When observing in
the systenk , neither of the charges can generate magnetit. fBet the result observed in the
system K' is that both charges can generate magnetic fWédether can the two charges
generate magnetic filed or not?

Secondly, the states of the two charges are cel®airit is an objective fact that there is a
force between the two charges, and the result tserdeed uniquely. When observing in
systenK, there is only Coulomb force between the two cbsard@But the result observed in
systenK' is that there is not only Coulomb force but alswdntz force. What's more, which
kinds of force do the two charges act on?

Finally, the states of two charges are certainclvldre an objective fact and determined
uniquely. When observing in systén it is at rest. But the result observed in theemysK' is
that it will finally stop at the direction of thirod that is parallel to the x-axis after swinging
to-and-fro. What’s more, which state will the systbe in?

From the argument as the above, a frame of refersniaist a mathematical model. Is there
any necessary relationship between it and the palytaws? Why do physical laws have the

same form to all the frames of reference?

4.2 The Most Simple Logic and Experimental Facts

Principle of Relativity-Physical laws has the sampressing form in all the inertial frames
of reference, that is, physical laws are equivalet| the inertial frames of reference.

Now let us look up the basic physical facts.

The magnetic field can’t be generated by a restlmgyge on the surface of earth, but it can
be generated by the moving ones. If physical lanesapplied to the frame of reference and the

principle of relativity is correct, the magnetielfi wouldn’'t be generated by the resting charge in
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the inertial system, but it would be generatedh®ymoving ones relative to the inertial system.

On the one hand, a simple problem can be analyzemtding to the principle of relativity.
When a charge is resting relative to the earthaserf can it generate a magnetic field? The
magnetic field can’t be generated by the restirgygd when observed in the frame of reference
on the surface of earth. But it can be generatedhbymoving charge observed in the other
frames of reference that are moving relative toddeh. To the end, whether can a magnetic filed
be generated by the charge or not? That is cootoagli

On the other hand, another simple problem canlasanalyzed according to the principle
of relativity. When a charge is moving relative ttee surface of the earth, can it generate a
magnetic field? The magnetic field can be generhtethe moving charge when observed in the
frame of reference on the surface of earth. Butait't be generated by the resting charge
observed in the frame of reference. To the endthenean a magnetic filed be generated by the
charge or not? That is also contradictory.

In April of 2005, Professor Zhu Yonggiang from Depzent of Physics of FuDan
University in Shanghai conducted some experimenthis problem.

In the experimental installation, an observing systwas made to be stationary relative to a
charged body. So the phenomenon whether a madretieexisted near the body of the charge
was to be observed, when the observing systemhantdady of the charge moved at the same
velocity or acceleration. It can be concluded frtra results of the experiment that the magnetic
signal received was zero while the experimentahlitagion resting on the surface of earth. But
when it moved at a constant velocity relative ® ¢larth's surface, the receiving magnetic signal
was evident.

We can say that this experiment is a direct deoitthe theory of relativity.

According to the theory of relativity, a magnetield can’'t be generated by the resting
charge in an inertial reference system. Howeves, ribsult of the experiment shows that the
magnetic field can be detected in the system thatationary to the charge when it is moving on
the surface of earth.

Another experiment conducted by Professor Zhu Yaargyis as follows:
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In this experiment, an exact instrument has beempbeted, which consists of a transmitting
device and an amplifying-receiving device. The #@orman produce smashed electromagnetic
wave, and the latter can display the intensityhefreceived smashed electromagnetic wave.

The receiving intensity was independent of thectiva of the instrument, when the
installation was resting on the surface of eartht B a moving reference system, there is obvious
relationship between the receiving intensity areldirection of the instrumert?

To sum it up, this experiment is also a direct deta the theory of relativity.

4.3 Cosmic Background Radiation and New Ether Drift

This experiment was conducted in Lawrence Berk&lational Laboratory in the year of

1976 to 1977, using &, airplane at a height of more thars000m.

A curious radiation that bathes the earth almosifanmly from every direction has turned
out to be a unique source of information about ti@@ure and history of the universe. The

isotropic three-Kelvin radiation is a backgroundvrich all astrophysical objects lie.

It is known that the temperature of the three-Kelackground radiation varies by about
one in a thousand across the sky, with the hotéggon being in the direction of the constellation
Leo and the coolest one in the direction of Aquarilihe temperature varies smoothly between
these two regions, following a simple cosine cuivas distinctive pattern (“the great cosine in

the sky”) leads us to identify the velocity of Hodar system as the cause of the anisotropy.

There can be only one inertial frame of referenneany region of space where the
background radiation is completely isotropic. Inyasther frame an observer’s motion will reveal
itself as a variation in the temperature of the iedin proportional to the velocity of the
observer and to the cosine of the angle betweerdinestion of motion and the direction of
observation.

Physicist P.J.E. Peebles created the term “the e¢her drift” to describe the expected
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motion.*?

The founder of Synergetics Hermann Haken has kaid ‘fTThe special relativity has denied
the existence of the absolute frame, but the tHedein background in the universe is a
beautifully absolute frame.”

This experiment has also been a direct denialgdhbory of relativity.

Is there any inevitable relationship between light the frame of reference in vacuous
space? Is there any inevitable relationship betwdgsical laws and the frame of reference in
vacuous space? Since the principle of constandiglaf velocity and the principle of relativity
are unreasonable, whether on logic or on experiwemthe theory of relativity based on them be

reasonable?

5. The Root of the Successes of Relativity

Honestly speaking, there exist logic disorderdetahed conclusions and confused concepts
in theory of relativity, even the basic principlasd transformations are incorrect. What is it on
earth that makes the theory of relativity succeBuye are a number of complex equations in the
theory of relativity, some results of which are sistent with the experimental facts by
coincidence, so that we can’t understand the thebryelativity completely. And the more
confused we are, the more admirable the theory is.

Some basic conclusions of special theory of ratsti@nd the reasons of the successes of relataridy
analyzed in the following paragraph. Only we find the reasons of the successes, we can see tdreess

theory of relativity as it really is.

5. 1 The Increasing Mass in Theory of Relativity

5.1.1 Recognition of Mass in New Physics

Firstly, let's study the simple recognition of massNew Physics before the concepts of
theory of relativity are analyzed.
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People usually don't distinguish the gravitationass from the inertial mass, and instead,
they often call the two ‘uniformly mass’. Howevenr,fact the two kinds of mass are essentially

different.
[Gravitational Mass]
The gravitational mass, which is still denoted roy reflects the quantity of substances
contained in a body and is a constant.
[Inertial Mass]

While the inertial mass reflects the charactessté motion of a body and its ability to
accelerate when there is an external force actintp® body. It is a variable.

The inertial mass of a body associates not onli &t gravitational mass but also with the
density of the no-shape substance of the spacesvithebody is. Moreover, the inertial mass of a
body also connects with its moving speed relativihé no-shape substance space where it exists.

If we denote the inertial mass of a body@ywe will get
Q=mf(9 qu) (5.1)
Where f(S) is the function of the density of the No-Shape<s3ahce in the space where the

body exists. g(v) is the function of the velocity of movement of th®ody in the
No-Shape-Substance Space.

In the space re the earth’s surface, the density of the No-Shagestamce, which is
denoted bys,, is uniform. If f(S,) =1, then Q = mgv)

From the experiment conducted by Kaufmann and sather people, we get the

relationship between mass and speed

a(v) -1
J1-03/c?

g(v) approximately equals 1 when speed is a low valuexefore, in the case of low

(5.2)

velocity on the earth’s surface =m.
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Obviously, on the earth’s surface, when a body rmmatea low speed, its inertial mass is
numerically equivalent to its gravitational massit Biis is just the equivalence on the numerical

value; they are completely different in nature.

[EOtvOs Experiment]

In 1906, E6tvos, a Hungarian physicist, conductddnaous experiment to verify that the

gravitational mass is equal to the inertial masssAown in
D)
o8

Fig.5.1.The suspended mass point will eventualfchea
position of equilibrium. There are three forcesragbn it:

(1) The gravitationG of the earth, which directs the
center of the earth.

(2) The centrifugal forc& of inertia, generated by the

rotation of the earth.

(3) The tensiorT, acting on the mass point from the Fig. 5.1 E6tvos Experiment
hanging thread.

What is important is thab is proportional to the gravitational mass, wiitlés proportional
to the inertial mass. E6tvos found no differenceéhi@ position of equilibrium with a variety of
substance, such as wood, platinum, copper, ashesites and copper sulfide etc.

The ‘zero’ result denotes that the gravitationassia equal to the inertial mass.

How should we explain the experiment? First, wednte note that the experiment was
conducted at the same spot on the earth’s surfatéha velocity of object was zero.

From the above analyses we have derived that grédhmass and the gravitational mass

satisfy the following relatio® = mf( 9 dv).

Well, on the earth’s surfacef (S,) = 4andg(v) =1, wherv =0, thus we ge® =m.

From this we can see that in this experiment thevatéence between the inertial mass of
every single body and its gravitational mass isitaéle.

Either the density of the no-shape substance irsplage in which the body locates, or the
speed the body travels, is different, the grawtal mass will not equal to the inertial mass.
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5.1.2 Recognition of Mass in Theory of Relativity

It is proposed irtheory of relativity that gravitational mass andriml mass are completely

equivalent. The mass of one object at resirjs it will increase while moving, and the increase

here is the true increase. The moving mass ofbfexbis as follows.

m=——1b__ (5.3)

J1-0v%/c?

In 1906, the physicist E6tvos from Hungary condddtee famous E6tvos Experiment, after
that it is thought that the conclusion which gratrgnal mass and inertial mass are equivalent is
demonstrated by the experime&ince then the distinction between gravitationalssnand
inertial mass wouldn’t be distinguished. Since th&ve mass-velocity equation obtained by the
experiments conducted by Kaufmann et al becomedadke equation of theory of relativity,
which is branded by the theory of relativity.

In high energy physics, while the particle movirigaehigh velocity, the change of inertial
mass resulted from the velocity can't be negleeted it should be modified by the mass-velocity
equation.

However, the mass-velocity equation is influencgdhe theory of relativity greatly, which
undoubtedly result in the thoughts that the expemt® on high energy physics are the
demonstration of theory of relativity and the theof relativity is the theoretical basis of high

energy physics.

5.1.3 Problem of Floating Wood

Let's study a simple problem of floating wood tdgat and discuss whether the mass
increase in theory of relativity is reasonable agid or not.

As shown in Fig.5.2, the wood block which dens#yliO g/ml is moving at the velocity of
0.& relative to the water which density is 1.0 g/mih&her the wood block floats upward or
not?

The problem is analyzed from the viewpoint of tlyeairrelativity as follows.
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(1) On the condition that the water
is selected as frame of reference, thipy y

mass of the moving wood block

increases but the length of it shortens.
0.8
The increased density of wood block Water Wood —>
isl—'O:Z 8g/ml, and the density of (e}
1-0v%/c® ’ © XX

water is still 1.0 g/ml, therefore, the Fig 5.2 The sketch map of floating wood block
wood block will sink.
(2) On the condition that the wood block is seldctis frame of reference, the mass of the

moving water increases but the length of it shartehe increased density of water

1.0

1—2/(:2 =2.8g/ml, and the density of wood block is still 1.0 g/rierefore, the wood block
-vU

is

should not sink but tend to float upward.
To sum it up, whether the wood block floats upwardinks? It is obvious that the results of

theory of relativity are self-contradictory.

(Attention please, In the theory of relativiy= vy .)

5.2 Time dilation in theory of relativity

5.2.1 The Recognition of Time in New Physics

What is the concept of time? Time is just as an emsely long river flowing from the
antiquity to the future.

And Newton has ever said that ‘The absolute, reahathematical time, itself and to the
extent of its nature, always lapses uniformly, hguiothing to do with any outside body.’

Time is the most essential objective being in theverse, or time is the reflection of the

total existence and changes in the whole univdiigee is the most essential foundation stone of
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the physics. The movements of a trivial objecttaa er even a galaxy, absolutely cannot change
the objective state of time.

Time is our sole measurement tool for fr@cess of universal existence and changes. Of
course, this kind of measurement is regulated bya system on the earth’s surface familiar to

us.

[The Prolongation of the Life-span of A Moving Paricle]

In a number of experiments, it is shown that tfe dpan of moving particle relative to the
earth becomes longer indeed. What is the meanintpie? After a clear distinction between
gravitational mass and inertial mass is drawn, faet that the life span of moving particle
becomes longer will be easy to grasp.

How should we explain the problem in this experitlen

It is the high-speed motion of the particles in tiweshape substance space that extends the
life-span of the particle.

As shown in Fig.5.3, similarly, the particle is @isyade
up of smaller mass units and the mutual collisiansong
these mass units cause the disintegration of théclea.
When a Particle moves at a high speed in the npesk

substance near the earth’s surface, the inertigsé every

mass unit composing the particles increases, atiteasame
time the relative speed of every mass unit decsedse to the  Fig. 5.3 the configuration
unchanged vibration momentum. As a result, the tinterval of 4~ meson
of collisions among these mass units of the padicicreases,
and thus the life span of the particles extends.

We will estimate the life span of a particle by meaf the following method.

When the particle moves at a high speed in thehapes substance space, the inertial mass

of each mass unit composing the particles incretsdé® g(v) times as much as the inertial

mass of each mass unit of an immobile particle.aBse the vibration momentum of each mass
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unit doesn’t change, the relative velocity of eatdiss unit decreases to lggv) times as little

as the relative speed of each mass unit of an imenphrticles. Therefore the time interval of

collisions among the mass units of the particleereds to beg(v) times of the original value,

and accordingly the life span of the particles eateto be g(v) times of its original value. We

can express it by the following equation:

T,
r=g)r,=—2— (5.4
°1-0v?/c?

Where 7 is the life span of a moving particle ang is that of an immobile particle.

——we can comprehend the reason of prolongation difthepan of a moving particle.

Time being objective and absolute is the foundationvhich we learn the nature.
The life span of a moving particle extends, whidse&lnot prove the time dilates but shows
that the self-reaction of the particle becomes sidter its moving at a high speed relative to the

corresponding no-shape substance space wherets.exi

5.2.2 The concept of time of theory of relativity

It is proposed in the theory of relativity thatfdient frames of reference have different
times and time can be dilated, in other wordsntie®ing time or clock slows down.

Let's pay attention to an interesting phenomendhth® laws in the theory of relativity are
relative. The clock at one place slows down, buhatsame time the clock at another place also
slows down. Which clock that slows down on earikt

It is denied in theory of relativity that the lawase absolute, and it is proposed that all the
clocks are similar, none of which slows down intfac

Can't these arguments be contradictory and confused

The time dilation in the theory of relativity caatisfy the equation.

Iy

r=—0
1-0?/c?

(5.5)
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In terms of the particles which life become longeving at a high velocity relative to the
earth, it is not studied from the standpoint ofitognd relativity in theory of relativity but the
accurate value calculated by the Eq.5.5 is shown.

The equation of time dilation is branded by thduaifce of the theory of relativity for we
don’t understand the mechanism of the physical pmemon. Therefore, we have to side with the
theory of relativity. It is proposed that the timseobjective and absolute in the classic physias, b
it can be dilated in the theory of relativity, whits believed by most of people, even the data are
consistent and accurate.

——not only the clocks of particle decay but also hoEspace systems such as spacecrafts
and satellites are modified by the equation meetioabove, which is amazing undoubtedly.

What is amazing is that the theory of relativitysis great that it can exceed the inherent
ideas of human being!

What is amazing is that the theory of relativityss accurate on data that it can coincide

with the truth!

5.2.3 Confusion and Contradiction of Time View in heory of Relativity

Don't forget that all the laws in the theory ofa®Vity are relative. One person is moving
relative to another one, the clock of one persaiower than that of another person and vice
versa. Whose clock is slower on earth? The thebrglativity can’t get away from the
self-contradictory logic at all events.

Though the absoluteness is denied in theory ofivélg why does the life of the particle
moving at a high velocity relative to the earthdree longer absolutely?

The problems of time trap and twin paradox are istudn the previous chapters. The

absurdity of theory of relativity can be found euehere.
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5.2.3.1 Amazing! It costs Ten Years or One Tenth ée for the Earth to Move
round the Sun Once.
It can be shown in Fig.5.4, a series of clocks sagh B andC are resting at the frank€ .

It is obvious that they are synchronous and the tfithem i$' in the frameK’, where the clock

A'is located at the point 0O'.

In the same way, a series of K’ K
clocks such a®, E andF are Lot
resting at the fram& . It is *,
| Y,

obvious that they are

synchronous and the time of

OOOMOM O 000000

them ist in the frame&K , where C B A D E F

the clock D is located at the
Fig 5.4 The observation of the same event from diffent

point of O. frames varying widely

According to the theory of
relativity, when the origins of coordinat€sand O’ coincide with each other, it is supposed that
the time of the coordinate systems is zero, f'est =0.

——when the cloclA encounters the clod®, t'=t=0.

In the following, the relationships of time in theo systems are analyzed using the
principles of the theory of relativity.

Firstly, the clockA is supposed to be the starting point.

The event that the clogkencounters the clodR is referred to as the first event, £t, =0)
The event that the clock encounters the clodk (or the clocks that are resting in the frakie
such as the clodk) is referred to as the second event. It is obvibas the two events occur at

the same point (the point a®") in the frame K', where the time interval of the two events is

intrinsic time.
r, =Ot' =t,-t;=t,-0=t,
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r=At=t,-t, =t,-0=t,
It can be obtained easily:
t

J1-0?/c?

Obviously, what is described by, is the time of coordinate systehatthemoment and

t, =

what is described byt, is the time of coordinate systend’ atthemoment.

In the same way, the event that the cldancounters the clocks resting in the fragsuch
as the cloclkE can also be referred to as the second eventsélfissvident that the similar result
can be obtained. That is to say that both the timef the coordinate systek and the timet' of
the coordinate systenkK’ meet the following equation:

¢

- 5.6
t 1-0?/c? 69

If v=c, /ﬂ , then
100

What is the meaning of that?

t=101 (5.7)

It can be shown from the viewpoint of the theoryrelfativity, if a year were past in the
frameK', ten years would have been past in the frkme

Alas! Let’s cast a glance at the brilliant sun lwe sky! Seen from the franm€ it takes the
earth one year to move around the sun, can'’t & thk earth ten years to move around the sun
seen from the frame'.

Secondly, the clock is supposed to be the starting point inversely.

The event that the clod® encounters the clock is referred to as the first event. The event
that the clockD encounters the clod (or the clocks that are resting in the fragisuch as the
clock C) is referred to as the second event. It is obvibas$ the two events occur at the same
point (the point 00) in the frameK, where the time interval of the two events isiigic time.

According to the theory of relativity, it can betaimed:
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= (5.8)

If v=c, /ﬁ , then
100

It also can be shown in the theory of relativitytihas been past one year in the frafnd

=10 (5.9)

would have been past ten years in the frme

It is said in the theory of relativity that=10Qt" at the same time=10, that is to say that if
it took the earth one year to move around the sen from the frami', it would take the earth
ten years to move around the sun seen from theefikam

It also can be shown in the theory of relativitgtthf it took the earth one year to move
around the sun seen from the fraKieit would take the earth ten years to move ardiedsun
seen from the frame'.

——Not only the objective facts are ignored but alewobvious self-contradiction it is.
[One Fart Three Responses]

In terms of the above problem, a supporter of tie®ty of relativity named Mr. | Ching say
that the time of the two coordinate systems canbeotompared together, the time of the same
incident should be compared. It should be remendbiirat it is the time of the same incident that
should be compared together.

In subsequent, we make compare between the timbe slame incident carefully and quite
sarcastically.

What's more, let's analyze a physical incident!

Take a fortune teller Mr. | Ching for example, Berinning and jumping. Dang! Suddenly
he breaks wind.

(Don’'t mind! Here is just to be vivid and visualizand actually it can make you realize that
the fart is exactly the same incident.)

We analyze the event in the fratdewhich occurred at=50 light yeart=10 year.
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We are interested in this incident.

When does the incident occur in the fragi@

(1) According to the basic equations of the theafryelativity, we can obtain the rule that
the two time systems can meet all the time fronbEq.That ig =1Qt". It is obvious thatt' =1
year.

(2) According to the basic equations of the theafryelativity, we can obtain the rule that
the two time systems can meet all the time from5Bqg.That i$' =10 . It is obvious that
t'=100 year.

(3) This is just a physical incident, which candmved by using Lorenz Transformation
directly.

_ t—x/d

J1-0?/c?

——how novel the conclusion is!

t’ =-3975N (5.10

When the two origins of coordinate coincide witltleather, we can obtain that=t=0.

It can demonstrate that the fortune teller Mr. lir@hbreaks wind after the coincidence in the
frameK. But it is different in the framk', the fortune teller put a fart 397.5 years ago mtine
two origins of coordinates superposed.

——when the two origins of coordinate coincide witltleather, is the fortune teller born?
We can conclude that it is as early as 397.5 yeefire he is born, he put a fart.

——who can't say that the time past cannot be calltk tagain? The fart of the fortune
teller has demonstrated it.

Who can’t say that the theory of relativity is igoéat?

It is shown in the theory of relativity that thertfaf the fortune teller (it is actually an
incident) occurs not only at' =1year but also at' =100year. What is amazing that it occurs at
t'=-397.Eyear!

Oh! It is no wonder that the fortune tellers suppbe theory of relativity, which is because
one fart has three responses.

——especially the fart has occurred before he was. l#dthough it fumes anybody to death,
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we have no choice for the fortune teller is notbor

5.3 The Most Typical Symbol of Relativity—Mass andEnergy Equation

5.3.1 The Recognition of New Physics on Mass and &gy

Mass is just mass and energy is just energy. Treetwnap different kinds of things in essence
and can’t convert to each other.
The mass is conservative and the energy is alssecaative.

[Kinetic Energy Equation]

The kinetic energy of a body is the energy whichassesses when it moves relative to the
total no-shape substance space where it exists.

We then deduce the kinetic enerByof a body. We assume that at first the particle is
immobile relative to the total no-shape substampzees, that isv =0, which indicates that its
original kinetic energy is zero. And then we exartexternal force on the body to make it move
along a straight-line path. When the velocity of fharticle increases to, the kinetic energy

equals the work done by the external force actimg.or'hat can be expressed as

E = [ Fdx
If substituting Qafor F in the above equation, we get
E= J' Qadx
. . du dx : .
Again replacmga foraand thena for vin above equation, it follows that

E=jO”Qu du (5.11)
(1) In the no-shape substance space near thesauiiace, when the body moves at a low

speed, Q = m. Then at this time the kinetic energy of the by
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— v _1 5,
E—mfou du—Emu (5.12)
This is the kinetic energy equation we are famiéh.

(2) In general caseQ =m f(S dv). So at this time the kinetic energy is

E=[ Qdu=mi(S[ duowdu= mf %'Uoﬁdu

E=mf(S 6(1—1/1—‘(’:—3 (5.13)

This is the kinetic energy equation for the geneaaidition.

As a result,

(3) Here let’s look at the following particular eas
On the earth’s surface, what will the kinetic eretlre if the speed of a moving body

approaches the light speed? Its kinetic energy is

E=mf($ 6(1—1/1—’2—51: mé (5.14)

Unexpectedly, this is the mass-energy equationredaailiar with.
[Mass-Energy Equation]

Mass is conservative and energy is also consee/dhass and energy can not be converted
to each other while they are in essence two comilgldifferent kinds of things.

When a nuclear fusion happens, an atomic nuclelisel@ase a great number of particles
with high energy and their speed is approachintpedight speed. The mass taken away by these
particles is the mass the atomic nucleus loses.tAadinetic energy acquired by these particles
is converted from the potential energy of the atomucleus. Both mass and energy are
conservative.

From the above Eq.5.14, we can get the followingagign between the mass and energy

taken away by these particles

E=Am¢ (5.15)
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Now it is natural for us to understand the exiséeocthe mass-energy equation.

Photons are no shape substance in nature. So @fghotass is not zero. It is
hv

d (5.16)
C

m,

The theory of relativity considers the rest mass @ghoton to be zero. Well then, from the
viewpoint of mass-speed and mass-energy relatiorikd theory of relativity, the energy of a
photon in a medium must be zero too. It's compjetaintradictory to the objective physical

facts.

5.3.2 Recognition of Mass and Energy of Theory ofd®ativity

It is proposed in the theory of relativity that thiass and energy are similar in essence, and
they can convert to each other. Their conversiogaith other can meet the famous mass-energy
equation.

E=md (5.17)

All of the mass loss and energy release such akaruéusion and fission satisfy the
equation, which is undoubtedly the weapons thaptbponents is proud to say that the explosion
of atomic bomb can’t be explained without the tlyemirrelativity.

The mass-energy equation is the brilliant symbdheftheory of relativity. The great power
of the atomic bomb is conquering us relentlessly.

What is surprising! It is unbelievable for Einstéongrasp that mass and energy that are of
two different kinds have the same essence, aniddatie accurate relationship of the conversion
between mass and energy. Though the successfudsexplof atomic bomb can be attributed to
the theory of relativity, why does Einstein try deduce the mass-energy equation through the

way that is not the theory of relativity in hisdatyears?
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5.3.3 The Logic Problem of Mass and Energy Convewn in Theory of

Relativity

It is proposed in the theory of relativity that thiass and energy can convert to each other,
and the energy that is released at the period déaufusion is converted from the mass.

It is well known that the binding energy increaggeatly during nuclear fusion and the
potential energy decreases greatly. If all the gneeleased is converted from the mass, then

where is the potential energy decreased?

[The electron-positron annihilation]

It is shown in the experiment that the electron poditron can be annihilated and convert

into photo. The energy of photo and the mass ofretecan satisfy the mass-energy equatith

As shown in Fig.5.5, the electron and positron\aagy far at the beginning, then get closer

and change into photos in the end.

We assume that the electron and positron whic 4o —e
L . : o [
kinetic energy is zero are static when they areatathe U U

o . . *— @
beginning, and the static mass of each electromjsThe

" . [ [ J
positive and negative charges attract each othdr g

hy hy

closer to each other. Their kinetic energy incrsase VARV
gradually, their potential energy decreases gréyluaid Fig 5.5 The sketch map of anninilation
they tend to be annihilated and convert into phatthe  of electron and positron
end.

In theory of relativity, it is proposed that theeegy released is converted from the mass in

the process of electron-positron annihilation.
E=2m7¢ (5.18)
If the theory of relativity is true, where is thealeased potential energy? Then, when the

two charges get closer to each other, the eleptiiential decreases and kinetic energy increases
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(a part of the electric potential energy will cortvimto electromagnetic radiation energy). It is
proposed in the theory of relativity that the largiee kinetic mass is and the larger the whole

energy is. Why not all the kinetic mass converts gnergy?

[Calorimetry Measurements of Energy]

Mr. Hao Ji, who works in Shanghai Oriental Insetuf electromagnetic waves in china,
bombards lead target by use of high-speed electuinisis obtained by the beam current 1.26A
with energys of 1.6MeV, 6MeV, 8MeV, 10MeV, 12MeV cari5MeV respectively, based on
Bettozzi experiment in 1964 He measures directly electron energy by Calorimetry
measurements. Obtained experimental values ardyhajfferent from that is obtained by
[15]

relativity theory.

Compare the experimental datas with various theoreticalalues

Energy 1.6MeV | 6MeV 8MeV 10MeV | 12MeV | 15MeV
Temperature
Relativistic value 0.67 2.52 3.36 4.20 5.03 6.29
Experimental value | 0.26 0.29 0.32 0.32 0.32 0.32
New physical valueg 0.30 0.30 0.30 0.30 0.30 0.30

In the relativistic point of view, when speed oé&lon approach to the speed of light, the
electron energy will tend to infinity. The new pigsholds that when speed of electron approach
to the speed of light, the energy will tend to anstant value. As shown in listed table, the

theoretical values obtained by "new physics" amy eose to the experimental value.

[Is there negative mass or virtual mass in the nate?]

Some science workers calculated the rest masspairtecle by measuring its energy and
momentum. They calculated the rest mass of a partig means of the following formula

between energy and momentum from the theory ofivéla The formula is
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E? = E2+ P2C? (5.19)
Where E and P are the energy and the momentum of a moving pantesdpectively, and

E, is the energy of a particle at rest.
Since E, =m,¢
We can get the following relation

- EZ_PZCZ

C4

(5.20)

Where m, is the resting mass of a particle.
Science workers have obtained exact measurementheoknergy of particle and the

momentum of the particle. As a result, they foumat the value dE* - P*c*, which is a negative

value, is smaller than zero.

It means that the square of the resting mass aft&cle is a negative value. Is it meaningful?
Of course, the answer is not. This negative vatweir@tely shows that Einstein’s theory may be
wrong in the formula for the energy and momentum.

Science workers believed that their measurements aecurate. While they are unable to
put an end to the theory of relativity, they broufgirward the view that a particle has virtual
mass in order to explain the negative value.

Is there any negative or virtual matter in the ne®uln order to illustrate the answer to this
guestion, let’s look at the following example fiysif we refer to the case that every one has an
apple in his or her hand, we know clearly that ¢hee of holding an apple in everyone’s hand
exists objectively and even can be seen by ourseimgy of us can understand it well. Now if we
refer to the case by saying that it is a negatpmeaor a virtual apple in our hand, how can we be
understandable?

So we should never violate the objective facts wilisoussing physical questions.

From the argument above, the mass-velocity relghign time dilation and mass-energy
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equation are the so called successes of theomsflatfvity. But it can’t stand up to close scrutiny.

Let’s look up some other conclusions of theoryetétivity.

5.4 Static Mass of Photo Being Zero in Theory of Rativity

From the view of theory of relativity, the staticags of photo must be zero, or else the

kinetic mass of it will be infinite. Now that théasic mass of photo must be zero (i, =0).

According to the mass-velocity relationship, theetic mass is also zero.

M -g (5.21)

According to the mass-energy relationship, thegnef photo is also zero.
E=m¢é=0 (5.22)

From the basic equations of theory of relativitg @an conclude that the energy of the photo
should be zero whichever frequency it has, whidhatés the objective physical facts entirely.

Einstein believes that the photo has energy angtiotos with different frequencies have
different energy, which is known by most people.

E=ty (5.23)

The above inference conflicts with the basic ppieiof Einstein. What is ridiculous is that

some of the proponents of theory of relativity bed that the light travels in the air in the
1

Ji1-¢?/¢?

not zero, i.e.m=yx0=0x0. Therefore, they argue that the judgment of theuryelativity

condition of u=c, y= = oo, which results in that the moving mass of the phiet

that the static mass of the photo is zero is cotalyleorrect.

We couldn’t help admiring the theory of relativityhich is that the photos with different
frequencies have different energy. It can be catedufrom it that the mass of the photos with
different frequencies will have different zeros.

Don't forget that the velocity of light travelingrithe media such as glass, water and
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atmosphere is less than that of light travelinghiem vacuum, which is also familiar with us. Take

glass for example; =L :1—0’5, then y=1.342, the moving mass of photo is shown as follows,
n 1.
m=ym =1.342x 0= ( (5.24)

Sorry! It is not to multiply zero by an infinite kee this time.

While the light is traveling in the glass, the aeof the photo is shown as follows,
E=m¢é=0x¢=0 (5.25)
While the light is traveling in the glass, the maren of the photo is shown as follows,

P=m=0xS=0 (5.26)
n n

What can the theory of relativity tell us?
It can tell us —while the light is traveling in the media such dssg, water and
atmosphere, both the energy and momentum of theodre zero, which contradicts with the

physical facts entirely.

5.5 The Paradox of Grandparent and Grandchild

In theory of relativity, it is proposed that th@ck can be turned back, what would be going

on if you went back in time and killed your granitifa?

If you went back in time and killed your grandfath@vhen your grandfather wasn'’t
married), your grandfather would die, your fathed gou wouldn’t be born.

If you weren’t born, you wouldn’t go back in timeadkill your grandfather and you would
be born. If you were born, you would go back ingiemd kill your grandfather....

If we side with the theory of relativity, it willdimpossible for us to make sure the simple
guestion whether we exist or not.

From the argument above, the mass-velocity relshign time dilation and mass-energy
equation are the so-called successes of theomlativity. But it can’t stand up to close scrutiny.
How ridiculous the basic principles, transformasi@nd conclusions of theory of relativity are!
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After you understand the absurdity of theory ofatieity and the root of its success, |
believe that you have a more levelheaded cogndrothe problem in physics. As long as we can

recognize and correct the mistakes in the theorglativity, physics will have a bright future.
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